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ORKNEg JlE=8Hl
279,000 23 6,417
OJlzge-4d Setl
9,000 x5A*x22EH x 12 11,880
OURTS2(IHSZ2TA)
50,000& * 122 600
202 04l 57,408 57,408
o1 =LHolb 57,408 57,408
0= 248 of]
260,000 x23Z * 123 »80% 57,408
203 =2l 7,500 7,500
01 D[22 HIR LI 3,300 3,300
OZNetd=& 3,300,000& 3,300
M FA2HARFAI 4,200 4,200 0
ORMEA2E 350,000& * 122 4,200
Hees(dElas) 200,000 300,000 100,000
AN 200,000 300,000 100,000
gd3J|l8 &4 200,000 300,000 100,000
RJIsdES 200,000 300,000 100,000
(UII=ESE= 200,000 300,000 100,000
O&HII=s &= 200,000,000 200,000
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